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1. The World trade Organization (WTO) follows the Most Favoured Nation rule, which allows it to favour some less developed countries.
2. In the theory of absolute advantages exposed by Adam Smith, the productivity of labour is the main explanatory variable for the gains from trade.

3. According to Adam Smith, if a country has absolute advantages in the production of the two goods, then trade is unambiguously advantageous for that country.

4. A fundamental difference between the theory of absolute advantages of Adam Smith and the theory of comparative advantages of David Ricardo is that Adam Smith did not took the opportunity cost of the goods into account.

5. In the Ricardian model, if the slope of the production possibilities curve (PPC) of country A is different from the slope of the PPC of country B, then it is possible to say in which good each country will specialize.

6. In the Ricardian model, if there is a technological innovation that raises the productivity in one of the goods, then the pattern of comparative advantage may change.

7. Suppose that the opportunity cost of good X in terms of good Y is equal to 2 in country A and that the opportunity cost of good Y in terms of good X is equal to 2 in country B. In this situation, country A has a comparative advantage in good X.

8. In the Ricardian model, in autarky the equilibrium point of production is equal to the equilibrium point of consumption.

9. In the Ricardian model, the movement from autarky to trade leads each country to stop producing the good in which it has a comparative disadvantage – unless one of the countries is big.
10. In the Ricardian model with more than two goods, assume that country A has a trade deficit with country B and that unemployment is 7% in country A and 9% in country B. In flexible rates, the currency of country A will depreciate and, as a result, the differences in unemployment will diminish.
11. In the Ricardian model with more than two goods, assume that country A has a trade deficit with country B and that unemployment is high in country A and low in country B. In flexible rates, we can assert with absolute confidence that the currency of country A will depreciate until this country ceases to import and starts to export at least one of the goods.
12. In the Ricardian model with more than two goods, assume that country A has a trade deficit with country B and that unemployment is 5% in both countries. In fixed rates, that leads to an increase in both the monetary base and the money stock of country B in case its Central Bank keeps the interest rate constant.
13. In the Ricardian model with more than two goods, assume that country A has a trade deficit with country B and that unemployment is 5% in both countries. In fixed rates, that leads to a reduction in the domestic demand of country A and to an increase in the domestic demand of country B in case the two Central Banks keep their interest rates constant.
14. In the Ricardian model with more than two goods, assume that country A has a trade deficit with country B and that unemployment is 5% in both countries. In fixed rates, that trade imbalance may end up being eliminated in case interest rates are kept constant by the two Central Banks.

15. In the Ricardian model with more than two goods, assume that country A has a trade deficit with country B, that unemployment is 5% in both countries and that unemployment rates below (above) 5% lead to a continuous increase (decline) of nominal wages. In fixed rates, that trade imbalance will not be necessarily eliminated if the two Central Banks do not keep their interest rates constant.

16. In the Ricardian model with more than two goods, assume that country A has a trade deficit with country B, that unemployment is 5% in both countries and that unemployment rates below or above 5% do not lead to any change in nominal wages. In fixed rates, that trade imbalance may end up being eliminated in case the two Central Banks do not keep their interest rates constant.

17. In the Ricardian model with more than two goods, assume that country A has a trade deficit with country B, that unemployment is 5% in both countries and that unemployment rates below or above 5% do not lead to any change in nominal wages. In fixed rates, that trade imbalance may end up reducing the domestic demand of country A and thereby its imports and its GDP. If it happens, this decline in GDP will bring about a further reduction in imports.
18. In Krugman’s model, when countries open up to trade the demand curves directed to the established companies become flatter. As a result, firms cut their prices and this increases the demand directed to each of them – both before and after some of them leave the industry.
19. In Krugman’s model, when countries open up to trade some companies end up closing down. If this did not happen, the price of those that remain in the industry could not fall in the long run.
20. In the Ricardian model with more than two goods, the relative wage measured in the same currency makes possible to identify the goods that are exported by each country.
21. To measure the effective rate of protection a government gives to a certain export industry, it is necessary to know the protection on the imported input and the subsidy on the exported final good.

22. Consider a large country. A tariff on the imports of a certain good leads to ‘consumption inefficiency’ and to ‘production inefficiency’- but raises the welfare of the country as a whole.

23. A subsidy per each exported unit of a certain good reduces initially the supply of the good in the domestic market, and ultimately ends up reducing the domestic consumption of that good.
24. A tariff on imports, a quota on imports and a voluntary export restriction (by a foreign country) have a common consequence: they benefit domestic producers at the expense of domestic consumers.

25. A quota on the imports of a certain good makes some consumers choose not to buy some units of the good that would give them more utility than their production cost in the rest of the world.

26. A voluntary export restriction (by a foreign country) leads to the replacement of some foreign higher cost production by some lower cost domestic production
27. Like a quota on imports and a voluntary export restriction (by a foreign country), a tariff on imports leads at first to a scarcity of the good in the domestic market.

28. A subsidy per unit of output given to firms of an industry which competes with imports benefits domestic producers at the expense of domestic consumers.
29. ‘Trade diversion’ has a negative effect on the countries of a Customs Union with higher costs.

30. To prevent ‘trade diversion’ in a Customs Union, the common tariffs agreed on the imports from countries outside the area should be as low as possible.

31. Internal economies of scale occur when the quantity of labour per unit of output declines as the output of the firm rises.

32. Suppose that a certain country with two industries exports 2 million euros of the good of one of the sectors, and does not import the other good. In this case, the level of inter-industry trade is zero.
33. Consider a small country. A subsidy per each exported unit of a certain good makes some consumers choose not to buy some units of the good that would give them more utility than their production cost in the rest of the world.

34. The Common Agricultural Policy (CAP) led to an increase in the price of agricultural products within the European Union and, moreover, to a decline of those prices in the rest of the world.

35. A tariff on the imports of a certain good from a foreign company with market power in the importing country raises the welfare of the country because the foreign firm does not pass the entire value of the tariff on to the price at which it sells the good in the country.

36. According to the Infant Industry Argument, a protection to a certain industry of a less developed country may transform that country from an importer to an exporter of the good produced by that industry.

37. According to the Infant Industry Argument, a protection to a certain industry of a less developed country through a tariff may lead to gains in the short and in the long run.
38. The price of labour could not be lower in some countries than in others in a world of perfect labour mobility. And the fact that savers have a domestic bias explains why the price capital is lower in some countries than in others. 
39. An Hecksher-Ohlin model with capital mobility and imperfect labour mobility is able to explain the international fragmentation of production carried out by many multinational companies. But an Hecksher-Ohlin model with perfect mobility of both capital and labour would also account for that phenomenon.
40. The fact Hecksher-Ohlin model works better with qualified and non-qualified labour as factors of production, instead of capital and labour. A reason may be the fact that capital is much more mobile across the world than labour.

1. Assume that a country imports a good x whose domestic demand (Dx) and supply (Sx) functions are given respectively by:

Dx = 180 – 20.Px

Sx = 133,33 + 33,33Px.

It is also known that the country is small, and that the demand (Dxw) and supply (Sxw) functions are given respectively by:

Dxw = 150 + 50.Px

Sxw = 350 - 50.Px

Calculate the ad valorem tariff – that is, the tariff in percentage terms – that would have a prohibitive effect.

2. Present two arguments in favour of protectionism and two arguments in favour of free trade.

3. The following matrix indicates the output of two goods obtained from a day of labour:



Wine

Cloth

USA             30

  30

UK

  20

  15

The daily wage in the UK is 30£ and the exchange rate is $2 = 1£

a) Although the US wage is not known, we know that there is trade. With this information, is it possible to say in which good each country will specialize? Explain.

b) What is the highest possible level for the daily wage of the USA under trade? Explain.
4. The EU is interested in establishing an area of economic integration with the Mediterranean countries. Which type of economic integration would you suggest? Explain.
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